»P.686 »P.740 »P.740 649

YPINR 1=k o RoHS {@ ’
N7 7717." L2085 - 1 102
WEO—>—PTF VY 3r—&EULTCTHERAVEEITERYD,
BAL tmm
L1
T B
‘6‘7//\/ g4
D)3 33
11 i 7
N “ A\ U{_\:E
;ﬁ!ﬁm)b b
ME A RENIE NI
N1 27 (SUS2) 118 NACHITR = it 84
#9450 Rk | 55T a0 e ) 7 )
NANHEEARIL b (S45C/BE D) 1K
WSS + 7 MR NT YT o 1 - 1R Sk (BZ0)
$d1 (2303 ¢d #D B AV b 2% A% (M)
6003zZ | 17 35 10 30 25 12 | M4x16 | BC12C-6003 1,850
60047Z | 20 42 12 34 29 13 | M5x16 | BC12C-6004 1,910
15 60052z | 25 47 12 34 29 13 | M5x16 | BC12C-6005 1,970
62032z | 17 40 12 34 28 13 | M5x16 | BC12C-6203 1,970
6204zZ | 20 47 14 34 30 13 | M5x16 | BC12C-6204 1,910
620522 | 25 52 15 34 32 13 | M5x16 | BC12C-6205 2,020
6004zZ | 20 42 12 37 29 13 | M5x20 | BC15C-6004 1,970
60052Z | 25 47 12 37 29 13 | M5x20 | BC15C-6005 1,910
.5 60062Z | 30 55 13 37 30 13 | M5x20 | BC15C-6006 2,020
6204zZ | 20 47 14 37 30 13 | M5x20 | BC15C-6204 1,970
620522 | 25 52 15 37 32 13 | M5x20 | BC15C-6205 2,020
6206ZZ | 30 62 16 37 34 13 | M5x20 | BC15C-6206 2,150
60052z | 25 a7 12 42 29 13 | M5x20 | BC20C-6005 2,150
6006ZZ | 30 55 13 42 30 13 | M5x20 | BC20C-6006 2,150
0 60072z | 35 62 14 42 32 13 | M5x20 | BC20C-6007 2,260
620522 | 25 52 15 42 32 13 | M5x20 | BC20C-6205 2,200
62062Z | 30 62 16 42 34 13 | M5x20 | BC20C-6206 2,310
6207722 85 72 17 42 85 13 M5 X 20 BC20C-6207 2,490
60062Z | 30 55 13 47 30 13 | M5x20 | BC25C-6006 2,260
o5 60072z | 35 62 14 47 32 13 | M5x20 | BC25C-6007 2,380
62062z | 30 62 16 47 34 13 | M5x20 | BC25C-6206 2,430
620722 | 35 72 17 47 35 13 | M5x20 | BC25C-6207 2,610

/]
4

iwata





